ek e

Government of India
Ministry of Commerce & Industry
PETROLEUM & EXPLOSIVES SAFETY ORGANISATION (PE
(Formerly knows as Department of Explosives)
Nagpur

No. P.6(5)Reliance/ 2019
Nagpur, dated 16/03/2021

To, /
/
M/s. Reliance Industries Ltd.,
Reliance Composites Solutions,
Village Asoj, Vadodara — Halol Expressway,
Taluk Vaghodia Baroda — 391 510
GUJARAT

Sub.:  Manufacturer of 54 KL. Partitioned and Un-partitioned double wall FRP underground storage tanks
confirming to EN 13121-3:2016 specification, type testing as per UL 1316 for use in petroleum retail
outlet at your workshop at Village Asoj, Vadodara Halol Expressway, Taluk Vaghodiya Dist.
Vadodara (Gujarat) - Inspection thereof.

Dear Sirs,

Please refer to your letter no. RIL/VCD/PESO/11-20/01 dated 07.12.2020 and inspection of premises
by O/o. Dy. Chief Controller of Explosives, Baroda on 08.01.2021 & 11.01.2021

In continuation to this office letter no. P.6(5)Reliance/2019 dated 30/31.12.2020, the design drawing
nos.  RIL-20-RTL-DWUST-54KL-1, RTL 20 RTL DWUST FAB_54KL 0001 Sh. 1 of 7,
RTL_20 RTL DWUST FAB 54KL_0002 Sh. 2 of 7, RTL_20_RTL_DWUST_FAB_54KL_0003 Sh. 3 of 7,
RTL 20 RTL DWUST FAB 54KI. 0004 Sh. 4 of 7, RTL_20_RTL_DWUST FAB_54KL_0005 Sh. 5 of 7,
RTL_20 RTL DWUST _FAB_54KL _0006 Sh. 6 of 7 & RTL_20_ RTL DWUST FAB_54KL_0007 Sh. 7 of 7
for  manufacturer of 54 KL. un-partitioned and  RIL-20-RTL-DWUST-54KL_PART 1,
RTL 20 RTL_DWUST FAB 54KL PART 0001 Sh. 1 of 8 , RTL_20_RTL_DWUST_FAB_54KL _
PART 0002 Sh. 2 of 8, RTL 20 RTL DWUST FAB_54KL: PART_0003 Sh. 3 of 38,
RTL 20 RTL DWUST FAB 54KL_ PART 0004 Sh. 4 of 8, RTL _20_ RTL DWUST FAB_54KL
PART 0005 Sh. 5 of 8, RTL 20 RTL DWUST FAB 54KL_ PART 0006 Sh. 6 of 38,
RTL 20 RTL DWUST _FAB 54KL_ PART 0007 Sh. 7 of 8 & RTL_ZO_RTL_DWUST_FAB_54KL_
PART 0008 Sh. 8 of 8 for 54 KL. partitioned double wall FRP underground storage tanks conforming to EN
13121-3:2016 under stage inspection of M/s. TUV India Pvt. Ltd., for M/s. Reliance BP Mobility Limited are
approved and one set of drawings is sent herewith duly endorsed in token of approval

The approval as above is issued subject to the conditions as mentioned below :-

1. The quality of raw material of the tanks and its components, manufacturing and testing shall meet the
requirements of prescribed under BS EN 1312103:2016 and UL 1316.

2. The tank shall meet the requirements of thickness of shell, dish ends and other components as per
design calculations endorsed by third party inspecting agency done as per BS EN 13121-3:2016 and
UL 1316.

3. Each tank shall be accompanied by a report of Third Party Inspection agency conforming that it has
passes quality control prescribed under BS EN 13121-3:2016 & UL 1316.

4. Each tanks shall be provided with a distinctive marking to identify:
(d) Size of the tank (b) Maximum test pressure (¢) Caution regarding the risk or damage of the tank

from filling prior to back filling

5. Copies of the installation procedure shall be provided to the customer which shall also clearly indicate

the method of intended lifting.



Copy to

OO WD~

Details of type of back filling to be used and method of compacting shall be provided to each of the

customer.
The record of procedures and tests involved in the testing of the tanks shall be recorded and preserved
for at least 5 years.

This permission is valid for one year form the date of issue of this letter.

(S. D. Mishra)
Controller of Explosives
for Chief Controller of Explosives

The Jt. Chief Controller of Explosives, West Circle, Mumbai.
The Jt. Chief Controller of Explosives, South Circle, Chennai..
The Jt. Chief Controller of Explosives, North Circle, Faridabad
The Jt. Chief Controller of Explosives, East Circle, Kolkatta
The Jt. Chief Controller of Explosives, Central Circle, Agra

The Dy. Chief Controller of Explosives, Baroda with reference to his memo of even no. dated
09.02.2021

for Chief Controller of Explosives




EP. NO.
WR. NO.

255 | REF. NO.
RC LE! | MAT. SPEC.

WEGHT ke

PROJECTION = = |

ANGLE |
— |

N/

on DESIGN DATA | L
| [ STATUTORY REQTS] PESO APPROVAL _ [TESTING CODA [UL 1316 3RD IDMON, BN 13121-2:20164 i
DESIGN CODE | EN 13121-3:2014, 82111-M002-55-MV-28022_R1 11-03-3020 | cooestamr:no
SERVICE | | ETHANOL BLINDED GASOLINE / BIODIESEL / MS / HED /
HIGH OCTANE M$
|| ankvee \ DOUBLE WALL FRF BURIED TANK N
DESIGN LIQUID HT. OF THE TANK @ 2260 | |
| |TANK-1 CAPACITY(WORKING/MAX)  m3 | 30/30 + 57 (MIN.) VAFOUK SFACE 11K
TANK-2 CAPACITY(WORKING/MAX)  m3 | 24/24 + 5% (MIN.) VAPOUR §PACE |
DESIGN PRESSURE | rererNOTR 10 .
| DESIGN TEMPERATURE (MAX/MIN) c| s5/-5 B ‘
OPERATING PRESSURE kPa (Kg/cm2g)| ATMOSPHERIC + 1200mm (+100mm) BARTH COVER | |
a0 | OPERATING TEMPERATURE _ oc| AMBIENT v §¥ ; F 113
TEST PRESSURE \Pa (Ko/emag)| As PER CODE sPECTEANYIT R :M_p) M'_.?(Wj??d/f
|EW 1 PESIGN SPECIFIC GRAVITY " [orsaos O IF o Zoseo o
YRIENVAPOUR PRESSURE kPa (Kg/cm2g) | N/A 2! LT /ﬁ‘z,{}/‘; —JT J
INSPECTION | TPIA B, asnerninanien sty
EMPTY WEIGHT/ERECTION kg|7363 a7 @ ' |
Smmmorsmﬂon WEIGHT kg | 54937 R / yjs
o ’suu. OF WATER WEIGHT k| 61363 £ or cffar wush) (tsiiee
:.,_.,:00' |

P

VERIFIED & APPROVED
QR TUV INDIAPVTLTD.

) g fosjiza/a@o
$PECTOR/ MPETENTPEKSON

PV(R)112/CP856467-1- |
w57 K ARUKALA VIJAYAPAL REPDY

RETT MATERIAL OF CONSTRUCTION R |

Jn S e END CAP/RIBS LG =

cOm o1t ANHOLE FLANGE/ TANK COLLAR Teme. — l -
!' | SHEL hmOlE COVER L T“LE I3 2mm‘;.;mlnjmmh - |

ELL ON AR T o |
HLOMAIGE TI RS | 24 NOV 2020 CENERAL ARRANGEMENT DRAWING- B
EH-'\N!I.'.N. VA OUBLE WALL
o HK 24 NOV 2020 UNDERGROUND D4KL ARTITIONED) |
HOP FLEXURALE TS
o FRP STORAGE TANK (5 51
ExurAL MODUR N.
JOP TENSILE & |
UALTENSILE 5T |
'E:NSFLE STRENCE éi

DRG. NO.: RlL_20_RTL_DWUST_54KL_PART_1




N
~
#
= Lo |
g H
= |
1 r '
o
s Gl —
<=
(g
S'I m, UNLESS OTHERWISE STATED.
'UNLESS OTHERWISE SPECIFIED)
i mm (UNLESS OTHERWISE SPECIFIED)
.5 mm (UNLESS OTHERWISE SPECIFIED) G
iSS OTHERWISE SPECIFIED) |
s LAYUP SEQUENCE chxfﬂs"
2922 i, GLASS RESIN
= V+C_300x2+C_450 30 70
) OUTER SHELL (24 KL [ii=7+c 250 2+ o8 )
MATERIAL - FRP - i
NTRIBUTION VARIATION FOR ALL LAYERS ALLOWABLE i
LAYUP SEQUENCE cé‘ N":I:ILTJRITIAOLN
GlASS | RESIN
ORING — s I =
[(C_450 + HxB)xa+H 68 32 N
— G i 20 8, e z
67 _ | .33~ . *
__ ITRIBUTION VARIATION F%%\’ERS S ALLOWABLE
h 182.5 waltaverto .',L oy M”M/?,f7
o~ ™A TE THICKNESS i L/ (1_(:) }/
I~ ITCOMING ..
~t GSM / 450 GSM ) ; 2
& o Y .M{EH/ZXJZOOTEX} : /ﬁ'{“jx %Z/L
N e - 450 GSM E . / '
S EX/2x mgm . )
- 450 G5M Y PEURVINCELL gy
2 mm CLEARANCE M / WR - 610 GSM 4 e
B M/ WR - 610 GSM ///'\. f
— D- 555 /40 e e I
DETAIL G ER TO BE APPLIED | Eo Wi s | E
AN
o~
2
P
12

e
&

t PLATE
- $.5-304

(ILE: FABKICA 1IUN DRAWING FUR |

RP UNDERGROUND STORAGE
ANK (54KL-PARTITION)

SHEET REV

10F8 B

VUST_FAB_54KL_PART_0001

2 1




—©

mm, UNLESS OTHERWISE STATED,
ON FOR HAND LAYUP : 30%- 35%

1 (UNLESS OTHERWISE SPECIFIED)

-5 mm (UNLESS OTHERWISE SPECIFIED)
1.5 mm (UNLESS OTHERWISE SPECIFIED)

o J=

] LESS OTHERWISE SPECIFIED)
{ =__|—_
’ COLLAR/MANH(
L OUTER LAMINA
! 5mm THK (12
@f\?@ '-ﬁf-;%ﬂt ! " “\-“_‘;“
£\ .-:-_:,ﬁ.y__.'g",:.jn ’n{ >
S . )ﬁf(@f@fﬂ// 4
— LR Yot
_AMINATION _ e e
HK (t1 + 13 U ity af g
k- %y
N DETAILS
2
MANHOLE AN
i v EAMINATON DET S DERGROUND STORAGE
Gss TANK (54KL-PARTITION)
MANHOLE AND SHEET | REV |
LAMINATON DETA:DWUST_FAB_SdKLPART_OOM ke
(FOR 24KL TANK)

4

2




& f

SECTION S§2-82 UNLESS OTHERWISE STATED.

m (UNLESS OTHERWISE SPECIFIED)
G 1.5 mm (UNLESS OTHERWISE SPECIFIED)
+1.5 mm (UNLESS OTHERWISE SPECIFIED)
NLESS OTHERWISE SPECIFIED) | G

% MATERIAL

E
LAYUP SEQUENC CONTRIBUTION

GLASS | RESIN
1+C_300x2+C_450 o 25 75 |
WR_610 + C_300) x 2 + {C_300 + WR_610+
> 300+ WR_610 + C_300) x 6+ (C_300 + 38 62
WR_G10+C_300)
l | 20 | 8
| = B | 37 63
HBUTION VARIATION FOR ALL LAYERS ALLOWABLE

T.LTD.
J Bod O
MPETENT PERSON

(R) 112/ CPS 56467-1

03//?_

| % MATERIAL
LAYUP SEQUENCE CONTRIBUTION

GLASS RESIN
o 1 25 75
© = 300 + WR_610+C_300 + WR_610 + €_300) =8 38 62
13 20 80
38 62
1BUTION VARIATION FOR ALL LAYERS ALLOWABLE *

IAYAPAL REDDY

9}

NN ENNNNNNNNN

B

UV INDIABV

RIFIED &SAPPROVED

N
o

- - semaTeriAl 77| ¢
WAYUPSEQUENCE | conrriimion " 4%

e | 1Tkl
f@ff)f/“,:.‘._.fi

DETA"- D2 fC_!BDX2+c‘_-_¢55-I 2 _‘,-F-.’,EB_W'
g L 1 ﬁ‘. s i = :
YR_610+C_300] x 2+ {C_300+ WR_81+C_300 + } Y i

E R_510+C_30017+ (C_ 300 + ke ) +€_300) _z%i? j{iﬁ_? 7
OUTER ELLIPSOIDAL HEAD [BUTION VARIATION EORALL LAYEBS ALLOWABLE

MATERIAL - FRP LAYUP SEQUENCE 'ﬁi_-./ﬂ;‘
e STV

by |

| GLASS | RESIN |1 ||
' |
|

KARUKALA VI

S\

= C 3002 +C 450 5 s
’ 1,610+ €_300) x 2+ (C_300 + WR_610 +

00 +WR_610 + C_300) x 6 + (C_300 + 38 62
610+ C_300)

o 63
| . JTION VARIATION FOR ALL LAYERS ALLOWABLE ]}/ B
D 88 m—
o e, IALLAYER TO ‘L = iR
Tl Tt I

; - | 7777 : t
DJ ® ~{P UNDERGROUND STORAGE |

\NK (54KL-PARTITION)

—_—

15

20
DETAIL D4

T




e J e - R

EW '

im, UNLESS OTHERWISE STATED.
\ FOR HAND LAYUP : 35% + 5%

§ PER ASTM A153.

.8 mm (UNLESS OTHERWISE SPECIFIED) |

CD: £1.5 mm (UNLESS OTHERWISE SPECIFIED) ' G
| mm +1.5 mm (UNLESS OTHERWISE SPECIFIED)

D ®1216 n (UNLESS OTHERWISE SPECIFIED)

A\CE VEIL - 30 G5M

M - 300 G5M

M - 450 GSM

JEN ROVING - 610 GSM

NG (2400 TEX / 2 » 1200 TEX)
NDING (2400 TEX/ 2 x 1200 TEX)

BACKING RING ADDITIONAL LAYER TO
MATERIAL - IS 2062 Grade A/ cOMPENSATE THICKNESS

SHORTCOMING ;
— 4y _ CSM-300 GSM /450 GSM
3587 (ARC LENGTH) I8 CIOOP (2400 TEX/ 2 x 1200 TEX) F
* Q9 / CSM - 450 GSM £\
RIOOP (2400 TEX / 2 x 1200 TEX)
/ CSM - 450 GSM £\
{SM - 450 GSM / WR - 610 GSM i r.—.;'rvrrr
'SM - 450 Gswwq,, 10GSM [»  ©
/Mp-s55"

i ISATION LAYER TG BF AijEIED /é{f}/ﬂm’//ﬁff

’8, e
% A el A
o e E

¢ ol Btyaadis

N

Ermy \"5’.1!«5 Cowan s

FRP UNDERGROUND STORAGE i'

L TANK (54KL-PART|T|ON)
SHEET | RV |
sors | B | A
<OWUST_FAB 54KL_PART_0004
2062 Gr 250 :BR (GALVANIZED) A -

- — = ]



— =

LENGTH

@ 3mm HOLE AT CEP !:

LENGTH _, UNLESS OTHERWISE STATED.

'ER ASTM A153.

(111

= 44 mm (UNLESS OTHERWISE SPECIFIED) r
//r ): 1.5 mm (UNLESS OTHERWISE SPECIFIED) |

m +1.5 mm (UNLESS OTHERWISE SPECIFIED) { G
(UNLESS OTHERWISE SPECIFIED)
®3.00 i

% MATERIAL

} LAYUP SEQUENCE
CONTRIBUTION

GLASS | RESIN

LENGTH IV +C_300x3+C_450 0 I o8
E==INTRIBUTION VARIATION FOR ALL LAYERS ALLOWABLE
EIL - 30 GSM
300 GSM
t - - [ta50 GSm
PE SIZE LE
L 0 B O
%o e 4 Lz dare -,
M16 BOLT £ B /[(;y Wf#’ﬂ//
A oy 7 e --nl“ﬂ
M12 BOLT . obar
M12 BOLT (DIP PIPE)
PTIONAL) |M16 BOLT (FILL & SUCTION PIPE)
M24 WASHER s
M12 WASHER L
STNERS | M16 WASHER
M24 NUT 7
[M12 NUT

67 Gr 4.6/4.0 (HOT DIP GALVANIZED AS PER ASTM /
% EXTRA FOR EACH TYPE AND SIZE. MINIMUM 4 N¢

IERS
[

th- 1 MLINIM] 1w IRV S A TR A4 BN

RP UNDERGROUND STORAGE
ANK (54KL-PARTIT|ON)

| SHEET l REV

: |A

OF 8

5
?UST_FAB_54KI._PART_0005 ‘

e

1

rwmvwﬁzmxzmua-_:m;w - \

| 2




O

) FLANGE
HK

Foe

———

BEE

n,
)R HAND LAYUP : 35%+5%.

UNLESS OTHERWISE STATED.

i 8 mm (UNLESS OTHERWISE SPECIFIED)

Cn_/ i ' D: +1.5 mm (UNLESS OTHERWISE SPECIFIED)

F BOLT SIZE WITH SUCTION PIPE M16>
WITHOUT SUCTION PIPE M16x36
FOR NOZZLE N1 & Né (AS APPLICA

JCTION PIPE ASSEMBLY (

B o WY .. W .« U - SN o VI . . S . S o U

i mm +1.5 mm (UNLESS OTHERWISE SPECIFIED)
i 1 {UNLESS OTHERWISE SPECIFIED)

7 O u A L~ ZEE ~ a ~ MR

- e e m owA o me = =
B n me - -~

‘RP UNDERGROUND STORAGE
FANK (54KL-PARTITION)

SHEET REV

6OF8 B

WUST_FAB_54KL_PART_0006

2 1

R




D | 4 2 |

3.2mm NEOPRER

B0.0

-—— ]

5.0

BLIND FLAN(—
A (PAINTING A
S REF. DOCUN

NO.-55-KM-Z H

16 x 70 LG BOL —

8 NOS. n, UNLESS OTHERWISE STATED.
OR HAND LAYUP : 35% +5%.

\al

238

»8 mm (UNLESS OTHERWISE SPECIFIED)
'D: 1.6 mm (UNLESS OTHERWISE SPECIFIED)

4" NB NOZZmm +1.5 mm (UNLESS OTHERWISE SPECIFIED) G
TO ASME B1 (UNLESS OTHERWISE SPECIFIED)

DN

.TERIAL FOR DIP PIPE ASSLY

z
7
g
; 3.2mm NEOPRENE
Z
/ 2" SCH 40 MS
E rey T GR. B) PIPE x 322L.G
7
: 4.5rarn THK FRP LAMINATION = 2 1OXT5X3 TEIK.
é 1 LAYER C.S MAT (300 GSM) S 1 (2)2.7—3.5 X 30-401.G
; 4 LAYERS C.S MAT (450 GSMS 2 25 W. X 3 THK. SEE DETAILS
; 3 2 25 W X137 LG. X 3 THK |SEE DETAILS
%
» 190 LMé ] B59.5X 54 H, SEE DETAILS
% F
; 190 LMé i 12 SQ. (NOIE 5) SkE DEIAILS
’ RENE 1 74 0.D. X 60 1.D. X 3 THK.
%
%; N 90 LMé 1 @91 X 64 LG.
) ; 90 LMé 1 PBOX 61 LG. =
; UAL At
; -
[y

e IO P 0 b YO T L
—
) =

3] (H
o (8]
i 511
“ L N
3] g

~- tRP UNDERGROUND STORAGE
res. 0044 A K (54KL-PARTITION)

—1 SHEET REV
70Ff8 l B A

4" DIA, FRP DIP PIPE FLANGE.
|0 50 mm, 16 mm THK
pHB FLANGE

IUST_FAB_54KL_PART_0007

AP ROD ASSEMBLY DETAIL (MS _Pf |

5 1 4




9 4 i |
VELDING SIZE 10mm O

'H

| mm, UNLESS OTHERWISE STATED.

8 mm (Unless otherwise specified) |

D: £1.5 mm (Unless otherwise specitled) {

) mm +1.5 mm (Unless otherwise specified) G
im (Unless otherwise specified)

R1273.4

COUPLER——\

Cﬂf’\ PA T 8

PLATE vy /z}j/g/@/( -

,L.
3

£RP UNDERGROUND STORAGE
TANK (54 KL-PARTITION)

<F. No.



SHELL/END CAP/RIBS
MANHOLE PLANGE/ TANK COLLAR
MANHOLR (:OVER

NOZZiEs  |FLANGE/BLIND FLANGE
ON MANN(LE | BOLTING / NUTS -EXTERNAL

BLIND FLANGE | GASKET
| BOLTS/NUTE FOR EXTERNAL

__MATERIAL OF CONSTRUCTION

| CS'(SA 105) WITH 3MM FRF LINING

Vo Lottt

|
1S PV(R) 112/ CPS 564
KARUKALA VIJAYAPAL

L
FRP
IS 20462 GR A/B (GALVANIZED) 4\

!5‘1367 Gr 4.6/4.0 (HOT DIP GALVANIZED)
3.2mm (MIN) THK. NEOPRENE RUBBER GASKET

15 1367 Gr 4.6/4.0 (HOT DIP GALVANIZED)

R A

ERIFIED & APPROVED
VT. LTD.

/PER
7-1

EDDY

J

EP. NO.
WR. NO.
REF. NO.
MAT. SPEC.
WEIGHT 6200KG 5
PROJECTION _.G@
ANGLE
DESIGN DATA
STATUTORY REGIS| PESO APPROVAL | TESTING CODE UL 1316 3RD EDITION, EN 13121-3:2016 4
DESIGN CODN | EN 13121-3:2016, 82111-M002-55-MV-25022_R1 11-03-2020] CODE STAMP: NO
SERVICE ETHANOL BLENDED GASOLINE / BIODIESEL / MS / HSD /
HIGH OCTANE Ms
TANK TYPE | DOUBLE WALL FRP BURIED TANK
DESIGN LIQUID HT. OF THE TANK mm| 2240
CAPACTY(WORKING/MAX.) m3| 54/54 + 5% (MIN.) VAPOUR SPACE
DESIGN PRESSURE REFER NOTE 10
DESIGN TEMPERATURE (MAX/MIN) °c| 55/-5
OPERATING PRESSURE kPa (Kg/cm2g)| ATMOSPHERIC +1200mm (+100mm) EARTH COVER
OPERATING T8MPERATURE C| AMBIENT
TEST PRESSURP kPa (Kg/cm2g)| AS PER CODE SPECIFICATION (REFER NOTE-11)
DESIGN SPICIHC GRAVITY d75%-0:88
VAPOUR PRESSURE kPa (Kg/cm2g) | N/A
INSPECTION TPIA .
EMPTY WEIOH!/ERECTION _ kgle0 il Ny //ﬂ 174
OPERATION WHGHT kg (53778 LowmR g 0/ :?W Vgl
FULL OF WATER WEIGHT ~ ka| 60200 L GE el ._....}.{.:--—u----

| | _m@s_)a! | PIPE/SUCTION PiPe FRP
CHK. | BN™| 24 NOV 2020 MUMINIUMI&%E?fg%Mﬁ‘TJUND DUUELE waw
DRN. AK 24 NOV 2020 FRP STORAGE TANK (54KL)
NAME DATE SHEET REV
SCALE DRG. NO.: RIL_ZO_RTL_DWUST_54KL_1 1 OF 1 PJ
RIL REV| 01 ' j ! f _[ ‘ ﬂ f ' |

4

3 | 2



i

N
N

i |

| H
1 \ I
| EE dl ==
& |» - -
S S N
-+ Bb|Z 9|5
(o] b o | |
SiE O
z = | m, UNLESS OTHERWISE STATED.
o |o
O O
- \ L 10.8 mm (UNLESS OTHERWISE SPECIFIED)
\ PCD: £1.5 mm (UNLESS OTHERWISE SPECIFIED)
442 0.0 mm +1.5 mm (UNLESS OTHERWISE SPECIFIED) G
{ ) mm (UNLESS OTHERWISE SPECIFIED)
| % MATERIAL
D ET A‘ T | cou‘rmm.?non
LILAFA
GLASS RESIN
€_300% 2+ C_a50 25 75
R_610 + C_300) x 2 + {C_300 + WR_610 +
300 + WR_610 + C_300) x 6 + (C_300 + 38 62
{ 610+ C 300) 1
__l - — | 20 80
[ 37 €
IUTION VARIATION FOR ALL LAYERS ALLOWABLE
g /0 LAYUP SEQUENCE C(’:N'“I"IRAILEUR'II':‘OLN
~ 3:': ho GLASS RESIN
S Slios = £, £_300%2+C_a50 7
i-:— N w7 +C_A50)xz4 B A _
‘Q. 5 - '..'.'_-:‘
i "”1 | / /jﬁu VARIATION FOR AL
—I R RN o e U2 e
- ___'_}}7\ /‘}/‘) n /‘} o N T LA AT TR
‘ (AYURSEQUENCE .
100 il -]
PR e GLASS
" 244 I 7
300+ WR_B10 + C_300+ WR_610+C_300)x 8wt |1 (887" | £ _o#
s 20
—a e o
i DRI 8
_-324 D ETA L UTION VARIATION FOR ALL LAYERS ALLOWABLE
348
o 348
% MATERIAL
348 LAYURISEQUENCE CONTRIBUTION E
56 i GLASS | RESIN
20 8O
. 450+ M= G) e d o 11 68 32
£ - I-—‘ s — 2 0
\ 67 3
UTION VARIATION FOR ALL LAYERS ALLOWABLE
N2
= | 1 phmionaL LaverTO
4 ,ﬂ PENSATE THICKNESS
| = ro— ,z\?{gé < _\‘SHDRTC_OMING
' 300 GSM / 450 GSM
TLLLD LLAE T [ 3 1200 TEX)
71 CSM - 450 GSM A\
=] 1400 TEX / 2 x 1200 TEX)
140 {CSM-450GsM A\
50 GSM / WR - 610 G5M
50 GSM / WR - 610 GSM D
N LAYER TO BE APPLIED
L e NETAIL
} T FRP UNDERGROUNL! SiUR T =mauEn
| 2 TANK (54KL)
‘ =
I M SHEET REV
00 -
10F7 B A
SEL_DWUST_FAB_54KL_0001

EL DETAIL

E

/ i

S¢

n



5x45° CHEF.

“[~<3 mm, UNLESS OTHERWISE STATED.
£SS AS PER ASTM A153.
TION FOR HAND LAYUP : 35% 5%

m (UNLESS OTHERWISE SPECIFIED)

=| 1.5 mm (UNLESS OTHERWISE SPECIFIED) G
+1.5 mm (UNLESS OTHERWISE SPECIFIED)

NLESS OTHERWISE SPECIFIED)
(GIION E-E

7
s F
SRR | |
S 7 dald
LT € oo SRR
Np NN 4714 2l 4
840 - ool e s Bpiestied
900 E

A

T | | FRP UNDERGRUUNU o Uinio A
| TANK (54KL)

F SHEET | REV

TL_DWUST_FAB_54KL_o002 | 2°°7 | B A

5 o2




4

= 3.2mm NEOPF
23.8
200 BLIND FLA
(PAINTING
e REF. DOC
“E‘i% ‘E NO.-5S-K;
|I\ L
v B
'.'.l//4 . ‘l' 8 NOS.
ol i
i Vs
E N 238

OE

SN
)

é/

=
»

—_—

Ny

10 AS

16 x 70 LGSS OTHERWISE STATED.
D LAYUP : 35% +5%.

UNLESS OTHERWISE SPECIFIED)
mm (UNLESS OTHERWISE SPECIFIED)

.5 mm (UNLESS OTHERWISE SPECIFIED)
4" NB ESS OTHERWISE SPECIFIED)

AL FOR DIP PIPE ASSLY

DOOCAICAAN AR RN AN

A
4
7
Y
/
A ’ - 2
’ 3.2mm NEOF 8| : 2" SCH 40 MS (SA106 ==
’ GR. B) PIPE x 322L.G
/ f 2 15X15X3 THK.
% g
J % % 4.5rm THK ERP LAMINA 1 @2.7-3.5 X 30-40LG
’ ’ | LAYER C.S MAT (300 2 25W. X 3 THK. SEE DETAILS
| j : 4 LAYERS C.S MAT (45! 2 25 W X 137 LG. X 3THK_|SEE DETAILS
2 [
% ; 16 1 ?59.5 X 54 H. SEE DETAILS
| / F
7 7
% 7 16 i 12 SQ. (NOTE 5} SEE DETAILS
4 "%
W %
| ! 7 1 [740.0.X601.D. X 3THK.
: %
; : 16 1 P91 X 64 LG.
9% oy
% % 16 1 80X 61 LG. —n
—4 DETAIL D2 Z
/ | 4 Qry SIZE REMARK
4 4
’ 7
’ Y

.) FOR NOZLE N8 (AS APPLICABL

MACHINE BOLT &

ra
o)

%

(474

oo

z

o

O

=

o

=

[a]

8]

e

THEN IT WILL BE TA 2

2 DIA, FRP DIP PIPE FLANGE,
1D 50 mm, 16 mm THK

PN Ut i v i v e e

| TANK (54KL)

PINE FLANGE

SHEET

ST_FAB_54KL_0003

30F7

DIP ROD ASSEMBLY DETA

IS 2



N
P~
s X
Wy
E= 1 N
i)
()
O

THRU SLOT

AT BOTTOM

LR

ONID ¢

DETAIL D1

154
"H“’_‘ E IN mm, UNLESS OTHERWISE STATED.

SECT‘ON X- .8 mm (UNLESS OTHERWISE SPECIFIED)

'CD: +1.5 mm (UNLESS OTHERWISE SPECIFIED)
0 mm +1.5 mm (UNLESS OTHERWISE SPECIFIED)
nm (UNLESS OTHERWISE SPECIFIED)

103
1.5mml

% MATERIAL
LAYUP SEQUENCE CONTRIBUTION
GLASS RESIN
4+ C_300x2+C_a50 30 70
OUTER S57 casnynzem 8 | m
20 80
= 57| 4
BLITION VARIATION FOR ALL LAYERS ALLOWABLE
| =
% MATERIAL
LAYUP SEQUENCE CONTRIBUTION
GLASS | RESIN
C_J00 =32 «C 450 - 25 5
R_610+ C_300) =2 + (C_300 + WH_610 +
300 + WR_B10 + €_300} = B+ {C_300 + 38 62
L5610 + C_300)
0 80
i B 83
IUTION VARIATION FOR ALL LAYERS ALLOYWARLE
l % MATERIAL
LAYUP SEQUENCE
a CONTRIBUTION
GLASS | RESIN
manarak | 80
450+ H xBiwd + H' 68 32
20 80

ol I 33

IUTION VARIATION FOR ALL LAYERS ALLOWABLE

LAYUP SEQUENCE

% MATERIAL
CONTRIBUTION

GLASS RESIN |

L

75

300+ WR_610 -+ 300 WR-E10 + C_300)=8

"

g TEY

/B/ ,, ,@u;’_:///&;/%ﬁ/

Fu ET s A7 4

JUTION VARIATION FOR AL LAYERS ALLOWADLL

e

LAYER TO
THICKNESS
MING

1 450.G5M

2 % 1200 TEX]
0G5M 2&;
2% 1200 TEX)
DGSMA

— VR - 510 GSM

WR - 610 GSM

0 BE APPLIED

FRP UNDERGROUND S

1o

TANK (54KL)

SHEET

DWUST_FAB_54KL_0004

40F7

2



PCD $810
n, UNLESS OTHERWISE STATED

. PER ASTM A153
24x @26mm HOLES EQUALLY
SPAGED ON PCD 810mm; HOLES ™ (UNLESS OTHERWISE SPECIFIED)
ARE ON BOTH MAN-WAY LID AND 1-5 mm (UNLESS OTHERWISE SPECIFIED)
MAN-WAY FLANGE  +1.5 mm (UNLESS OTHERWISE SPECIFIED) G

INLESS OTHERWISE SPECIFIED)
G :ACE VEIL - 30 GSM
l “SM - 300 GSM
“SM - 450 GSM |
ADDITIONAL LAYER TO
OPENINGS @70mm AT COMPENSATE THICKNESS
THE CENTRE. OPENING
EQUIPPED WITH 4xBLIND SHORTCOMING
HOLES, 14mm DEEP WITH CSM - 300 GSM / 450 GSM
12mm FULL THREAD M12,
EQUALLY SPACED ON PCD® 1R () HOOP (2400 TEX / 2 x 1200 TEX) F
/ CSM - 450 GSM
4x OPENINGS @90.5mm EQUALL™
F SPACED ON PCD 546mm. EACH JRAL) HOOP (2400 TEX/ 2 1200 TEX)
OPENING EQUIPPED WITH 4x / CSM - 450 GSM
BLIND HOLES, 14mm DEEP WITH CSM - 450 GSM / WR - 610 GSM
12mm FULL THREAD M16, N i
EQUALLY SPACED ON PCD CSM - 450 GSM / WR - 610 GSM
150mm. COMPENSATION LAYER TO BE APPLIED

CE A\
15° CHAMFER (TYP)

|
AMFER (TYP) FOR ALL TAPPING IV , : / | é‘ C/() Md’wﬁ/ / 407

[_AS PER ASTM A153 ) o

ANGE 4"BLINC

BOLT SIZE WITH SUCTION PIPE Mi6x¢ FRP UNDERGROUND STORAGE
WITHOUT SUCTION PIPE M16x36  TANK (54KL)
FOR NOZZLE N1 & N6 (AS APPLICAI

£ SUCTION PIPE ASSEMBLY pwust_Fag_sakt_ooos | *%'7 | ° A

B 2 ]



5N
| N

O

SIZE

LENGTH 1
N —

@ 3mm HOLE AT CENTER OF HE} @'

(NN
LENGTH % INLESS OTHERWISE STATED.
Y ASTM A153.
Py aC— am (UNLESS OTHERWISE SPECIFIED)
+1.5 mm (UNLESS OTHERWISE SPECIFIED)
n +1.5 mm (UNLESS OTHERWISE SPECIFIED) G
INLESS OTHERWISE SPECIFIED) '
®3.00 _ 6.50
1 1 VUPTSEQL % MATERIAL
c LA QUENCE CONTRIBUTION
. GLASS | RESIN
LENGTH : [v+c_ 300x3+C_a50 . 30 | 70
I # TRIBUTION VARIATION FOR ALL LAYERS ALLOWABLE
=
L L] Il - 30 GSM
= ™| oo Gsm
" | s065m
£

M24 BOLT

M12 BOLT (DIP PIPE) |
STIONAL) |M16 BOLT (FILL & SUCTION PIPE)
M24 WASHER

I T T
367 Gr 4.6/4.0 (HOT DIP GALVANIZED AS PER A
)% EXTRA FOR EACH TYPE AND SIZE. MINIMUR

—— D

| F 1M wrE R ame e m o o -

TANK (54KL)

SHEET | REV

[DWUST_FAB_54KL_0006 sof7 | 8 A

C | 9 1




HiCa

1, UNLESS OTHERWISE STATED.

m (Unless otherwise specified)

1.5 mm (Unless otherwise specified)

n +1.5 mm (Unless otherwise specified) G
Unless otherwise specified)

'TON A-A
LE1:40

e ) 4 (Y
U TIrE A

( WELDING SIZE 10mm ON A

D

FRP UNDERGROUND STURAGE
TANK (54 KL)
SHEET | REV

_20_RTL_DWUST_FAB_54KL_0007| 7OF7| B A

N

1EF. No.

4 2]



